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. Answer ALL questlons

ALL questlons carry EQUAL marks | (10xl= 10) o :

IOT stands tor o " e

SECTION-A (10 Marks*_"“ R

[ Internet ot Thmgs E ’ ,'F" = (11) Intemet of T ools |
(m) Infrastructure of Thmgs (1v) Informatron of Thmgs

(1) Cloud (11) Network
(i) lnternet SR (w) Automata

o 3 v:Whrch of the followmg is.an example of a short-range w1re1ess network" v. o - S

(1) VPN (i) WWW

BN TR (111) Wl-F1 (1v) Internet ;f’, : L }' S
"7~,..~;j';‘f4-f.ijANETstands for e T

(i) Vehicular Adhoc Network (u) Wu‘eless Sensor Network

(111)Vehlcular Address Network (IV) Vehlcular Adhoc Neural Network

‘ components“7 R
(i) Relays " '~j (11) Actuators 3
(111) Motors Y (1v) Solenmds

. 8 e (11) 16
(i) 32 o - ) 64

SR 2 ?,-Whrch of the followmg in IoT devrce is assocrated w1th data‘7 |

'_ o ', ‘:,:_5":,_':Wh1ch of the followmg 1s used to enable premse rotatlonal movements of devrce

B “'{_6,‘ -,What is the b1t 81ze ofCCSZXX? i | ; f{j,,.if"f_jff e

. 7 WhICh isa Component based OPCH SOUYCG Operatmg SYStem‘? LA o

@ Cont1k1 () FreeRTOS
(111)OpenWrt e (1V) Tlny OS

- (i), Lmux (@) Redhat -

s ”'f | 9 How many categorxes of functlon are mvolved in data mmmg‘?

@ 2 LG 3
(111) 4 | »ﬂr'{:y‘ (W) 5 ,,

R f;-';’._'l() Whlch forecastlng technlque 1s used for repeated forecasts‘? S
. (i) Moving average . - (i) Multiple linear regressmfrr i
3 y(_‘ll_l)p Str_arght line - (w) Slmple lmear regressmnj e




Cont

~Answer ALL Questlons R
L ALL Questlons Carry EQUAL Marks (5 x 7 35)
. Dlscuss the desrgn challenges of IoT system ’ ‘

‘ -OR L
o Explam the basw archrtecture of IoT

12 a i‘;i',i‘-'.'Compare WSN w1th Adhoc network SRR
: ;Explaln the necessrty of cross layer de51gn 1n WSN

a _1Explam how to conserve battery hfe 1n IoT system »
S OR : .
’?'Descrlbe the structure of system on Chlp

L ) Develop the server s1de components for IoT apphcatrons : T T
A S OR B e P
o Explaln the basrc arch1tecture of embedded Lmux L e TR

- v_:r(, OR » IO il
| ,._:Dlscuss the Challenges 1n managmg data for IoT apphcatrons

A-Answer any THREE Questlons - PR :
ALL Questlons Carry EQUAL Marks (3 x 10 30)

"',Explarn level 4 of IoT system W1th an example v

_};-DISCUSS how secur1ty issues. affect the QoS of IoT system

:-’.;Sketch the block dlagram of CC32XX and explam . ..
lDevelop an IoT apphcatlon us1ng CC3 2XX and Beagle Bone Black
tf‘Explam how querles are processed and Optlmrzed m sensor network

HlSELPZZquf??l{

g ';:':Schedule the ﬂow of data in IoT system | l : K :' ‘, i S



